Subject: Re: Reading a tree HELP!
Posted by Mamen on Thu, 22 Jan 2015 15:10:27 GMT

View Forum Message <> Reply to Message

Thank you Ralf,

| already knew this way, unfortunately | need to plot a combination of different variables, but for
each of them | need to apply different cuts, so this way is not usable for this particular case.

| mean, it would be something like:

data->Draw("atan(Py/Pz) - atan(Py/Pz)", "cuts"...) for which the first Py and Pz needs a cut on
PdgCode==11 and the second pair a cut on PdgCode==22...

If this is possible, could you give an explicit example?, please.
Thanks again for your help

Cheers!
Mamen
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